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100,000,000& * 14 100,000
2L METZ(HYERZ) T27Y Z2HHES L Al 200,000 0 200,000
2AHES
401 Al HIZ 201 8] 200,000 0 200,000
01 A& HI 200,000 0 200,000
O22L MBETR(YER) T27% ZIBY
L HAEAHEY 200,000,000& = 14 200,000
=2 A=E2sE-~oiot2 28 T2 100,000 0 100,000




AdNE= A &2
CZUNSEY ==
SANMMYES /st SAHECZ &5 (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
T AEHZXEUY 100,000 0 100,000
01 A& HI 100,000 0 100,000
O¢=d A=E2SE~l=z 28 T2IHE
100,000,000& * 14 100,000
Hits ot=SLHelE~3&8Z T2 100,000 0 100,000
401 AIEHIZ 28I 100,000 0 100,000
1T A& HI 100,000 0 100,000
Ogdts otx=sLdHeld~-382d T 24
100,000,000& * 14 100,000
SLEZSSHU~sUSTUHAIE 2t S2HE 100,000 0 100,000
401 AIEBIZ 201 8I 100,000 0 100,000
01 A& HI 100,000 0 100,000
OJIeAa & EBgd A
100,000,000& * 1A 100,000
SeHu~sHtEtel NgE=2 4 200,000 0 200,000
401 Al B2 2B 200,000 0 200,000
01 A& tl 200,000 0 200,000
O38Uu~sHtete NgE=2 4
200,000,000& * 14! 200,000
SHAZ & =282 4 3,919,250 3,671,500 247,750
A0S (HE~BY) XL 302,000 300,000 2,000
401 Al I 28I 302,000 300,000 2,000
01 A& HI 300,000 297,000 3,000
Odga20esd(He~2) &2
300,000,000& * 14 300,000
03 AlE S THHI 2,000 3,000 21,000
Odga20esd(He~2d) &2y
2,000,000& = 14 2,000
SHAZ2SH(LEHAANE XN Y 4155 H) &L 302,000 300,000 2,000
g
401 AIEHI L 20HYI 302,000 300,000 2,000
01 A& HI 300,000 297,000 3,000
OSHAMEZ2SH(ZEHAAMNEE~ XL Z4155H
) B E 300,000,000& * 14 300,000
03 Al =TI 2,000 3,000 A 1,000
SHANZ2SH (L EHSAE S~ XL 4155
) B E 2,000,000& = 14 2,000
AF03SE (=EZMS~AUHE0IS3 ) L 302,000 300,000 2,000
401 Al B2 2B 302,000 300,000 2,000
01 A& HI 300,000 297,000 3,000




AZ: HEDER A==
MY CRUSY HE
S9l: SPIAE U SHESE W (St &)
% - 4 14
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OAE203& 6 (=ZINS~MU B 0S5 &) X
= 300,000,000& = 14 300,000
03 Al 2 THHI 2,000 3,000 21,000
OAE203& & (=X S~MUH B 0S5 &) X
= 2,000,000& = 14 2,000
2055 M (22s) 22 202,000 100,000 102,000
401 Al HI K 201 I 202,000 100,000 102,000
01 A& HI 200,000 100,000 100,000
F=E22055H (s2s) #2¥
200,000,000& * 14 200,000
03 AIE 2 THHI 2,000 0 2,000
=E2055 M (2=s) 22 &
2,000,000& = 14 2,000
ANE204S & (F2t012) S22 200,000 500,000 A.300,000
401 AIEHI L 2 CHEI 200,000 500,000 A.300,000
01 A& Bl 200,000 497,000 A 297,000
OMAE204sH(F240IY) =28
200,000,000& * 14 200,000
Ha22sd (gL ~z40hd) S 20 300,000 300,000 0
401 AIEHI L 20 300,000 300,000 0
01 A& HI 300,000 300,000 0
O4a202s 6 (N2~ 4at0Hd) S22
300,000,000& * 14| 300,000
T2AE SHEZZ(F21015H) HZZIA 202,000 200,000 2,000
401 Al HIZ 2018 202,000 200,000 2,000
01 A& HI 200,000 200,000 0
=238 SHEZZ(F210154) &xES
A 200,000,000& = 14 200,000
03 A& =2 I 2,000 0 2,000
OF=23E sHEZZ(FE1015H) &#2F T
A 2,000,000 = 14! 2,000
SHANEZ £ sHEZZ MYFE 29| 2,250 1,500 750
202 o4dl 2,250 1,500 750
01 = LH o4 1l 2,250 1,500 750
OSHAE & SHEZZ MEFA
150,000& = 3Y « 53] 2,250
AE208S 6 sHEEZZHE 101,000 0 101,000
TAIEHI &R 101,000 0 101,000
01 A& HI 100,000 0 100,000
OMHB208EH sHEZZMHHL
100,000,000& * 14 100,000




AZ: HEDER A==
M CENSY HE
Chel: SRAE ¥ SOESZ He

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
03 AlE 2 THHI 1,000 0 1,000
OAE208EH sHEZZHE
1,000,000 * 14 1,000
SHANZ 38 (8 L~ Z) T2 I I T A 503,000 0 503,000
ANEHI &2 503,000 0 503,000
01 A& Hl 500,000 0 500,000
OSYAE 35H(LSU~SMUXNZ) 2K
F3A 500,000,000& * 14 500,000
03 AlE 2 THHI 3,000 0 3,000
OSYHAE 35¢(Lsu~-sMUIE) 28T
T 3A 3,000,000& = 14 3,000
SHEZZ 20256 (H2HLY) SEHIAM 203,000 0 203,000
401 AIEHI L 20 203,000 0 203,000
1T AIZHI 200,000 0 200,000
OsHEZZR 2025 (MBH~7H2E) X
S A 200,000,000& * 14 200,000
03 Al 2 0HHI 3,000 0 3,000
OsHEZZR 2025 ¢ (MBH~7H2E) X
S A 3,000,000& = 14 3,000
Ha203s M (2Eetd) s 100,000 0 100,000
401 AIEHI L 201 100,000 0 100,000
01 A& HI 100,000 0 100,000
ONA203S A (Dot stz &
100,000,000& * 1A 100,000
SHEEZ FFI01TE ATIHE S A 500,000 0 500,000
401 Al HIZ 201 8I 500,000 0 500,000
01 A& HI 500,000 0 500,000
OsHEEZ FE1015H AZHE SA
500,000,000& = 14 500,000
OHBHOIDI~E 2 S28E RES 700,000 0 700,000
308 XXM SO0l A 700,000 0 700,000
07 IXNSHH AR S = 700,000 0 700,000
ONIBIHII~EAY C23y 23
700,000,000& * 14l 700,000
T2 A& 2e 19,368,523 15,085,657 4,282,866
= 350,000
s 171,500
Al 18,847,023
CE2EH 29 800,000 1,000,000 A 200,000
SESEXNEHUEZ 0INSEX B4 800,000 1,000,000 200,000
401 Al HI K 2018 800,000 1,000,000 200,000




AZ: HEDER A==
M. T ZAIE2e
ool TR 2Y (e9: & 9)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
01 A& HI 800,000 1,000,000 A 200,000
O33EXNHAEZZ 0IXNSEX 24
800,000,000& * 14! 800,000
SHAME ¥ SHEEZ |RANE= 1,762,000 2,250,000 A 488,000
SEAME & SHEEZ RAE=S 600,000 600,000 0
401 AIEHIZ 28I 600,000 600,000 0
01 A& Hl 600,000 600,000 0
OSH8HAE & sHEEZ RXE=s
600,000,000& * 14 600,000
SHAE 2 sHEE=z 0IX=8X 24 202,000 200,000 2,000
401 AIEBIZ 201 8I 202,000 200,000 2,000
01 A& HI 200,000 198,000 2,000
OSYHANE & SsHEZZ 0IXN=EX B4
200,000,000 14 200,000
03 Al S THHI 2,000 2,000 0
OSY¥ANE & sHEZZ 0IXN=EXN B4
2,000,000& = 14| 2,000
SHANE £ sHEE=z /A 960,000 0 960,000
401 Al BIZ 2018 960,000 0 960,000
01 A& HI 960,000 0 960,000
OH= HHEZ tH=2 SAl
100,000,000& * 14 100,000
OMEH SHEZZ AE2025H THEES A
100,000,000& * 14! 100,000
OF&EH 2T 2025 & IS HHI S A
50,000,000& * 14l 50,000
OZ4tH tiolel E=Z2 T2 HHIZA
200,000,000& * 14| 200,000
Og4tdH nttel 85012 T2 HUIZA
30,000,000& * 14! 30,000
OSHANZ7TEH(LASHARA~US22] )72t &
EE I 50,000,000& * 14l 50,000
Ozs2cl Wgd LI IA
50,000,000& * 14l 50,000
OfIE1El A2 HESA
40,000,000& * 14 40,000
Oa21e| &#82 0tAZ IMRI S A
40,000,000& * 14 40,000
Odut201sd /B2 HdEME
300,000,000& * 14 300,000
F Ol M3 DIRoH A 1,562,000 1,120,000 442,000
ol & &l 535,000 0 535,000
401 Al I 28I 535,000 0 535,000




AR AEDER SN E2Y
M T 2AA2E
el FOIME DA (SHol: @)
CRA - FB - BA(BH) - MEMY - BYS 0l &t o il HImEET
01 A& HI 530,000 0 530,000
SES(RUFF~3EUL) AE=FHI S A
80,000,000& * 14 80,000
OsFS(SZolle Adel~adbixIgE) ele
ZHIS At 30,000,000& * 14 30,000
OXE1s AZIMHH I A 30,000,000& = 14 30,000
OSHHE(SAHIC-119LHHIE) A= FHI S A
80,000,000& * 14l 80,000
Oddz(2s0=2d) A=A
50,000,000 = 14l 50,000
Oot&etZ2 (A E2IA~NEXN2U) AUl =
At 100,000,000 * 14! 100,000
OYSHE 567812 (PEA=4~DEA4H) 0
SHE S A 80,000,000 = 14l 80,000
OF2FNSsD L2 ATHEDA
80,000,000& * 14l 80,000
03 Al S THHI 5,000 0 5,000
Oel& &l 20yl 5,000,000& = 14 5,000
EZ2EZ 622,000 0 622,000
401 AIEHI L 201 622,000 0 622,000
01 A& Hl 620,000 0 620,000
OXHIS(ESEOIN~TIeIHHE) S2EF Y
&3 A 50,000,000& = 14 50,000
OF23S w142l (SYOHE L) E2X
& HE S A 40,000,000& = 14 40,000
OURS(ZEUHL-EMNFS) T2XE NS
A 50,000,000& = 14 50,000
OAMEH AejoiHZ OtA2 INLI|ZA
50,000,000& = 14 50,000
ONd Xz (LB LR T2 FHHISAM
100,000,000& * 14 100,000
O¢=28 ZTAX HUAY
200,000,000& * 14 200,000
ORFZL(FES) 0lAE IAMRI |3 A
70,000,000& = 14 70,000
Oslduiz ZHFH 60,000,000 = 14l 60,000
03 AlE S THHI 2,000 0 2,000
Ok=zxd ddl 20l 2,000,000& = 14 2,000
Wiz Jl 405,000 0 405,000
401 AIEHI L 201 405,000 0 405,000
01 A& HI 400,000 0 400,000
OZEMENSHE WXUE NS A
100,000,000 * 14| 100,000
OLsHASRA WXZE HES A
300,000,000& * 14| 300,000




raox nx

2 AMDE=R
M T AL
o FoIME QIR L

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
03 AlE 2 THHI 5,000 0 5,000
OuWX=Z ZFHIALY S0HHl  5,000,000& » 14 5,000
ANEZAE & FX2e] 8,352,101 3,285,605 5,066,496
= 350,000
s 171,500
Al 7,830,601
HEXNS3HALY 4,310,000 200,000 4,110,000
401 Al HIZ 201 8] 4,310,000 200,000 4,110,000
01 A& HI 4,300,000 200,000 4,100,000
O&&XESs At 4,300,000,000& = 14| 4,300,000
03 Al 2 THHI 10,000 0 10,000
OF&XS3 At 10,000,000& « 14 10,000
ANIHR E2&8H & B+ 1,058,101 1,058,105 N4
101 @124 dl 43,101 43,105 N4
04 DIt 22 XREES 43,101 43,105 oy
OE2Y M=&Y 2
102,620& = 4% « 52 « 2101SE =S 43,101
305 tHal=s 10,000 10,000 0
01 Hia=s 10,000 10,000 0
OEZAES ztel Tdlch tha=
10,000,000& * 14 10,000
401 Al HI R 201 I 1,005,000 1,005,000 0
01 A& HI 1,000,000 1,000,000 0
OAJIX E2FH ¢ 2
1,000,000,000& * 14 1,000,000
03 Al 2 THHI 5,000 5,000 0
OAIDJIA E2F3Hl & 2= 5,000,000& = 14 5,000
SEZ2EAEHE| 200,000 200,000 0
401 A& HIZ 201 8] 200,000 200,000 0
01 A& HI 200,000 200,000 0
O HEX®HEUI 200,000,000& * 14 200,000
g A=+ 503,000 1,100,000 A 597,000
401 AIEHI L 2 CHYI 503,000 1,100,000 A 597,000
01 A& HI 500,000 1,100,000 A600,000
OuRXNES, MHEMMHUHSSEZFZAEX
500,000,000 = 14 500,000
03 Al S CHHI 3,000 0 3,000
OuRXNES, MHMMHUHSSEZFZAEX
3,000,000& = 14l 3,000
2 wEZUHM A 200,000 100,000 100,000




AZ: HEDER A==
Y T2 AL
S AZAE 2 S22 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
401 Al HIZ 201 Y| 200,000 100,000 100,000
01 A&l 200,000 100,000 100,000
Owg SHMAC 24 20,000,000& = 1094 & 200,000
Fw 2| FAZ2 15,000 15,000 0
401 A& HIZ 201 Y] 15,000 15,000 0
01 A& HI 15,000 15,000 0
Osn 52ZJ KA 2L 5,000,000& = 37| 15,000
WSHEAE FHIAY 100,000 100,000 0
401 AIEHI L 2 CHYI 100,000 100,000 0
01 A& HI 100,000 100,000 0
OusotdAId=E & € 2=
100,000,000 * 14 100,000
St 2 WSHMAIE HHIAY 100,000 100,000 0
401 Al HIZ 201 8] 100,000 100,000 0
01 A& HI 100,000 100,000 0
OStDY QTEE U IFMEA 2y
100,000,000& * 14 100,000
T2 ae MEFE 2FE I 3,000 2,500 500
202 O4dl 3,000 2,500 500
01 = LH 4 1 3,000 2,500 500
Oz el A=A 150,000& * 4F * 53 3,000
W= WEEs EZ3A 300,000 0 300,000
401 AIEHI L 2 CHYI 300,000 0 300,000
01 A& HI 300,000 0 300,000
OU=un WaEs ELSA
300,000,000& * 14 300,000
DAAN 42T AXAS 100,000 0 100,000
401 Al HIZ 2018 100,000 0 100,000
01 A& HI 100,000 0 100,000
OLN&A gHEE AXAMY
100,000,000& * 14 100,000
Scte A2 & B 100,000 0 100,000
401 Al HI K 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
Osete |Xzel & B
100,000,000& * 14 100,000
S22l AMED | 20,000 0 20,000
401 AIEHI L 2CHEI 20,000 0 20,000
01 A& Hl 20,000 0 20,000




M ox
40 5 4

AL NE=R
D EZ A 2L
CAIZEAIE 2 X2

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OZ=Z2FHIgr XtMH&E1D Hul
20,000,000& =« 14l 20,000
HelolEs+4% &l 300,000 0 300,000
401 Al HI K 201 300,000 0 300,000
01 A& tI 300,000 0 300,000
OogolEs+9 &l 300,000,000& = 14 300,000
OtM s Bl sl XTHEAY 700,000 0 700,000
= 350,000
Al 350,000
401 A& HIZ 201 I 700,000 0 700,000
= 350,000
Al 350,000
01 A& HI 700,000 0 700,000
OZU2S U2 FHaAINA
700,000,000& * 14 700,000
= 350,000
Al 350,000
nsSAtD &2 2 e At 63,000 0 63,000
s 31,500
Al 31,500
401 Al HIZ 201 I 63,000 0 63,000
s 31,500
Al 31,500
01 A& HI 63,000 0 63,000
OunsSAtD &2 2 e 63,000,0008 » 14 63,000
s 31,500
Al 31,500
Mz 4 280,000 0 280,000
s 140,000
Al 140,000
401 AIEHI L 20 280,000 0 280,000
s 140,000
Al 140,000
01 A& HI 280,000 0 280,000
Osl&duxtz2 &xl 280,000,000& * 14 280,000
s 140,000
Al 140,000
S22 HE 2 1,421,500 1,883,000 A 461,500
CEHEHY 1,242,200 1,600,200 /358,000
201 Let24dH] 896,600 936,600 240,000
01 At 22/l 708,000 688,000 20,000
O= &l 8,000
o HMAZY Z4ldl 8,000& * 50% 204 8,000
Ogxtz 700,000




AL NE=R
D EZ A 2L
CEEHAE e

M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
oMAXYIA LI(EZ)
20,000,000& * 3504 700,000
02 =224l 188,600 248,600 A 60,000
OHM4&&EbEl Sl 20,000,000& = 14 20,000
ONM&ZH RF 150,000,000& * 14 150,000
OF=F=g=b=) 18,600
ocdIIea ¥ S4ldl 850,000& = 12JH& 10,200
oMot ER3 700,000& = 12& 8,400
206 M= Hl 170,000 368,000 A 198,000
01 =4l 170,000 368,000 A 198,000
OMZTH & & S MEARS
15,000,000& * 14 15,000
O & At 20,000& = 1,000m’ 20,000
Ogszs 250,000&  300& 75,000
OFE =, 100,000& * 300 30,000
OEz2Ex=8 UM 30,000,000& * 14 30,000
302 Ol THoH E &F = 65,600 55,600 10,000
02 QIZHAITHOH R EFES 2= 65,600 55,600 10,000
O=4ltl 8,000& = 80Y =« 404! 25,600
O= Sl 40,000,000& = 14 40,000
305 HH&a =S 20,000 20,000 0
01 Hia=s 20,000 20,000 0
OMEAY clz2tolmlol a3
20,000,000& = 14 20,000
405 XtatE SHI 90,000 220,000 A 130,000
01 AR ESFH S 90,000 220,000 A 130,000
ONM&Il 7 15,000,000& * 6CH 90,000
CEHENY(SHSE) 179,300 282,800 A 103,500
201 ¢er24| 109,300 140,800 A 31,500
01 At 22l 56,800 56,800 0
Os88s Mz 4t
8,000& * 10Y * 10 = 2104 16,800
OS8s M&ExY UL
40,000,000& =« 14 40,000
02 =224l 52,500 84,000 A 31,500
Os8s M&ExY Fdl |Xd]
1,000,000& * 2100 £ 21,000
Os8s MeExy |FFH
1,500,000& * 2100 £ 31,500
405 XHobF S HI 70,000 142,000 AT72,000
01 et EZFH S 70,000 142,000 AT2,000
OM&ead 3,500,000 = 20CH 70,000




AZ: HEDER A==
M T 2AA2E
ol CREY 22 EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
CE2XY 22 4,948,250 4,842,500 105,750
T2 2 &350 OHE H=2s od A 101,000 101,000 0
401 AIEBI L 20HEI 101,000 101,000 0
01 A& tl 100,000 100,000 0
OE=ZH Jtz2s a4 100,000,000& * 14! 100,000
03 A& S THHI 1,000 1,000 0
O&E2d Jtz2s a4 1,000,000 = 14l 1,000
SHS Btas 249 2 =JAAY 200,000 100,000 100,000
401 AIEHI L 2 CHYI 200,000 100,000 100,000
01 A& HI 200,000 100,000 100,000
OSd¥&s Itz - Bets ¢4 9 e
200,000,000 = 14 200,000
TEANEE A2 2,885,000 2,880,000 5,000
201 Let24E] 2,075,000 2,070,000 5,000
01 At 22l 5,000 0 5,000
OJZ - 2OIS HWAEH 442
25,000 * 20074 & 5,000
02 2324l 2,070,000 2,070,000 0
Oz3&22= & HA 2,070,000
=28 HMIlg 930,000,000& = 14 930,000
oHots MIIZ 1,050,000,000& * 14| 1,050,000
oZdaxd HMIZE 90,000,000 * 14l 90,000
401 A& HIZ 201 I 810,000 810,000 0
01 A& HI 800,000 800,000 0
OL2xY - FAXGANE RAE>= & A
800,000,000& * 14 800,000
03 Al SR THHI 10,000 10,000 0
OE2xY - F&AXGANE RAE= & A
10,000,000& * 14 10,000
S A& 160,000 160,000 0
307 glz2tol & 160,000 160,000 0
02 It M AHE X 160,000 160,000 0
OBESZe oS, YUEY M2 A
533,333& » 150004 * 23] = 100% 160,000
Lo 2XL3E s TAIOKE HEALS 100,000 100,000 0
401 AIEHI L 201 100,000 100,000 0
01 A& tl 100,000 100,000 0
Oz - 205 =& Y HAMH JHEAY
500,000& * 200 100,000
AR SYEXS ZHAE OHEALS 50,000 50,000 0




AZ: HEDER A==
Mz T2 AH 22
Chel: T 2X 9 2t (S &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
401 AlEHIZL 2 0HY| 50,000 50,000 0
01 A&l 50,000 50,000 0
OAIIX YEXE ZHAE WA
50,000,000 * 14! 50,000
IZ2E UK =23 AtY 500,000 500,000 0
401 Al EHI L 204 HI 500,000 500,000 0
01 Al&H| 500,000 500,000 0
OJl2s HiUXlgsst ALY
1,000,000& * 5004 500,000
2 - BotE & A&Es8 A 100,000 100,000 0
401 Al HI L 2 0HHI 100,000 100,000 0
01 Al& H| 100,000 100,000 0]
OJIZ - B80S - HAAXH L5 AN&ES A
100,000,000& * 14 100,000
e XYAIDA=S HUIAY 100,000 100,000 0
401 AlEH|IZL 2 0HY| 100,000 100,000 0
01 Al& b 100,000 100,000 0
Ot ZHAIEZ2 &HH| 100,000,000 * 14! 100,000
C2XYH MIANEE SHES 200,000 200,000 0
401 A& HI L E0HHI 200,000 200,000 0
01 Al&H| 200,000 200,000 0
OEZXY HMIINEE SHES
200,000,000 = 1Al 200,000
OtECtE of2td & Hel =4 ALY 500,000 100,000 400,000
401 Al HI L £ 0HHI 500,000 100,000 400,000
01 Al& H| 500,000 100,000 400,000
OOISCLE oF2rE & Hel =4 AY
500,000,000& = 14! 500,000
ADIE AEl ZYALS 50,000 50,000 0
401 AlEHIZL £ 0HY| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OADE =Y A&X 50,000,000& * 14 50,000
CE2XHEAL AEF=E 2HAEH| 2,250 1,500 750
202 044l 2,250 1,500 750
01 2L Y| 2,250 1,500 750
O XY ze| AgFA
150,000& * 3¥H « 53| 2,250
ZHH 29 522,672 504,552 18,120
P2 NS 273,120 263,000 10,120




ANE= 2A c 2
Z A& 22
28y 29 (S5 &)
SH-EB .S (3H) - MEAY - BAS 0 AF o il HDS2
201 Bt A | 3,120 3,000 120
01 AP 2t 2l Yl 3,120 3,000 120
Ozl 960
oEHLEAUERASTA
,000& * 2% = 53 = 12& 960
OLEEEBE AIRA X} 180,000& = 12& 2,160
307 QI2t0| M 260,000 250,000 10,000
05 A2t E 2 260,000 250,000 10,000
OL-&HHEH el 52,000,000& = 5Y 260,000
401 Al HI L 2 0HHI 10,000 10,000 0
01 A& HI 10,000 10,000 0
CE P2 EMAY 10,000,000& * 14 10,000
A4I|H 222 102,352 122,352 A 20,000
201 2et2 Y| 102,352 122,352 £20,000
01 AFR2t2l bl 5,072 5,072 0
(@RTE==3] 800
CcAAIAHRLA HY=S
100,000& * 49 * 23] 800
ogxts 3,600
ocA4AIAHEYH A= 600,000& * 63 3,600
ode4I 9t 56,000& = 12& 672
02 3294l 97,280 117,280 A 20,000
03322 % HA 9,280
oA4AIH HH BAME= 60,000& = 8CH 480
ocAdINH EEE 1,000,000& * 804 8,000
ocH&EI|H SHMHRES
80,000& * 504 *» 23l 800
OA & &Hl S XY 88,000
ocHAA&HH RFU 4,000,000& = 12& 48,000
oHd&EH 2l & KX 5,000,000& * 8CH 40,000
cEHy 293Py 147,200 119,200 28,000
201 LEt2 Y| 134,400 106,000 28,400
01 At 22l Yl 120,000 100,000 20,000
ogxs 120,000
o RMAMAIEZ E2  120,000,000& * 14 120,000
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